
https://www.pass4itsure.com/1k0-002.html
2024 Latest pass4itsure 1K0-002 PDF and VCE dumps Download

 

 

 

1K0-002Q&As

CVE-2

Pass Polycom 1K0-002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1k0-002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Polycom
Official Exam Center

 

 

1K0-002 PDF Dumps | 1K0-002 Study Guide | 1K0-002 Braindumps                                1 / 3

https://www.pass4itsure.com/1k0-002.html
https://www.pass4itsure.com/1k0-002.html
https://www.pass4itsure.com/1k0-002.html


https://www.pass4itsure.com/1k0-002.html
2024 Latest pass4itsure 1K0-002 PDF and VCE dumps Download

QUESTION 1

The H.323 requires mandatory support of which video coding? 

A. H.262 

B. H.261 

C. MPEG1 

D. MPEG2 

E. H.263 

Correct Answer: B 

 

QUESTION 2

Encryption security of Video and Audio will be used to make 

A. only the packet payload unreadable 

B. only the first packet header unreadable 

C. None of the other alternatives apply. 

D. only the packet headers unreadable 

Correct Answer: A 

 

QUESTION 3

IEEE oversees which of the following? 

A. All of the other alternatives apply. 

B. ANSI standards 

C. Bell Standards 

D. OSI Model 

E. 802 LAN groups 

F. ISO standards 

Correct Answer: E 

 

QUESTION 4
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Which of the following best describes a field of view? 

A. What the camera "sees" in a given scene and is measured in volts 

B. What the camera "sees" in a given scene and is measured in degrees 

C. What the camera "sees" in a given scene and is measured in farads 

D. What the camera "sees" in a given scene and is measured in lumens 

Correct Answer: B 

 

QUESTION 5

IP addressing Version 6 uses how many octets? 

A. 4 

B. 12 

C. 32 

D. 40 

E. 16 

Correct Answer: E 
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